5

tennsco

Systems for Success

ESP
STANDARD SHELVING PACKAGE

12" 15" 18" 24"

PACKING LIST

4 Corner Post
or 6 Shelves
4 Side Sway Plates
1 Pair Back Braces
20 1/4 - 20 x 5/8 Bolts
20 1/4 - 20 Nuts
20 Standard Shelving Clips

ASSEMBLY INSTRUCTIONS

Lay two corner posts parrallel on saw horses with short
side facing up.

Bolt a sway plate approximately 10" from the top and
another 10" from the bottom of the post.

Place shelf c¢lips in top and bottom holes of each post.
Repeat steps 1 through 3.

Lean one side assembly against wall or other upright
surface and place shelf on bottom clips.

Place second end assembly in place and hook bottom shelf
in over clips.

Place top shelf over the four (4) clips at top of post.

Bolt rear sway braces in place. The top of the brace
should be in the 27th hole from top of post. Be sure
they are stretched to full extension, otherwise the
braces will appear floppy.

Position remaining shelves in place with clips.



2
<z
O5m
AEM
~ 30
»

z
o <
oo <
L

SHELVING C! 1P

ORNER POST

L=

e A T R T LA TP AR TR AT AR LA R K}

SIDE SWAY PLATE

1/4-20 BOLT

S iBEESsASTNVNUNSLLNVUARIENEGRNBEUBL B W

Holodaisl Ao b g A A e e e e e e

1/4-20 NUT

OFFSET APPROX.
10" FROM TOP OF
CORNER POST

BOLT BACK BRAC

XFT
" o8
- a O
OPT Pﬁunn
HOS < - W
=0 —FOZ
HEP EBO
~Ex Pz
1 LU FO
T=2 O
TAUHH .
I®) -
ZI 0 o



